STATEMENT AND ASSUMPTIONS

An assumption is something
supposed or taken for granted , i.e.
a fact that can be accepted as ture
on considering the contents of the
given statement. Some important
rule for choose implicit assumptions

1. Implicit matter should be
simple

2. There are no more than one
matter implicit in a
statement.

3. Assumption should not more
comprehensive than state-
ment.

4. Assumption and statement
should be complementary to
each other

5. Reason between assumption
and statement should be
completely include.

6. There should not be
repetition of statement and
assumption.

Direction (1-63):- In each

question below is given a statement
followed by two assumptions
numbered I and II. An assumption
is something supposed or taken for
granted. You have to consider the
statement and the following
assumptions and decide which of
the assumptions is implicit in the
statement.
Given answer
(a)If only assumption I is
implicit.
(b) If only assumption II is
implicit.
(c) Either I or II is implicit.
(d) If neither I nor II is implicit.
(e)If both I and II are implicit.

1. Statement:- If
you have any problems, bring
them to me.

Assumptions:-
I. You have some problems.
II. I can solve any problem.

2. Statement:-

Detergents should be used to
clean clothes.
Assumptions:-

I. Detergents from more

lather.
II. Detergents help to dislodge
grease and dirt.
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Statement:
Like a mad man, I decided to
follow him.

Assumptions:

I. I am not a mad man.
II. | am a mad man
Statement:

The government has decided to
pay compensation to the tune
of Rs. 1 lakh to the family
members of those who are
killed in railway accidents.

Assumptions:
I. The

enough funds to meet the
expenses due to compen-

government has

sation.
II. There may be reduction in
incidents or railway

accidents in near future.
Statement:

Never before such a lucid book
was available on the topic.

Assumption:-

I. some other books were
available on this topic.

II. You can write lucid books on
very few topics.

Statement:-

“I have not received telephone

bills for nine months inspite of

several complaints” A telephone
customer's letter to the editor
of a daily

Assumptions:-

I. Every customer has a right
to get bills regularly from the
telephone company.

II. The customer's complaints
point to defect in the services
which is expected to be
corrected.

Statement:-

The management of XYZ Pvt.

Ltd. asked the workers' union

to call off strike immediately

otherwise the management
would be forced to close down
the factory.

Assumptions:-

I. No alternative other than
closing down the factory is
left for the management of
XYZ Pvt. Ltd.

II. Such threat may have some
effect on the workers' union.

8. Statement:-
Most people who stop smoking
gain weight.
Assumptions:-

I. If one stops smoking, one
will gain weight.

II. If one does not stop
smoking, one not will gain
weight.

9. Statement:-
Vitamin E tablets improve
circulation, keep your compl-
exion in a glowing condition.
Assumptions:-
I. People like a glowing compl-
exion.
II. Complexion becomes dull in
the absence of circulation.
10. Statement:-
“Computer education should
start at schools itself”.
Assumptions:-
I. Learning computers is
easy.
II. Computer education fetches
jobs easily.
11. Statement:-

It is desirable to put the child
in school at the age of 5 year

or so.
Assumptions:-
I. At that age the child

reaches appropriate level of
development and is ready to
learn

II. The school do not admit
children after six years of
age.

12. Statement:-

His recent investment in the

shares of Company A is only a

gamble.

Assumptions:-

I. He may incur loss on his
investment.

II. He may gain from his
investment.

13. Statement:-
“If you want to give any
advertisement, give it in the
newspaper X”. — A tells B.
Assumptions:

I. B wants to publicise his
products.



14.

II. Newspaper X has a wide
circulation.

Statement:-

“Those who are appearing for
this examination for the first
time, should be helped in

filling up the form.” - An

instruction to invigilating

staff.

Assumptions:-

I. The form is somewhat
complicated.

II. Candidates can appear
more than once for this
examination.

15. Statement:-

The Principal instructed all the
teachers to be careful in class
because some students may
disturb other students.

Assumptions:-

I. The teachers will handle
the situation properly and
they will point out the
naughty students.

II. The students will welcome
the decision of the
Principal.

16. Statement:-

17.

18.

Beware of dogs, our dogs do not

bark, but they are trained to

distinguish between genuine

guests and intruders.

Assumptions:-

I. Barking dogs bite rarely.

II. Our dogs could be dangerous
for intruders.

Statement:-

This year most of the shops

and departmental stores are

offering prizes and discounts

on purchases to attract
customers.

Assumptions:-

I. The shops and depart

mental stores have so far

earned a lot of profit, so now
they have started sharing it
with the customers.

II. Lots of goods are available
but the sale is not shooting
up. There is no cheer for
the customers.

Statement:-

Provide mid-day meals to the

children in primary schools to

increase the mnumber of
students attending schools.

19.

20.

21.

22.

23.

Assumptions:-

I. Mid-day meals will attract
the children to the schools.

II. Those children who are
otherwise deprived of good
food will attend the schools.

Statement:-

Please do not use lift while
going down - an instruction on
the top floor of a five-storey
building.

Assumptions:-

I. While going down, the lift is
unable to carry any load.

II. Provision of lift is a matter
of facility and not of right.

Statement:-

Traffic jams on most of the
roads in the city have become
a regular feature during
monsoon.

Assumptions:-

I. Material wused for road
construction cannot withstand
the fury of monsoon resulting
into innumerable pot holes
on the roads.

Number of vehicles coming
on the roads is much more
in monsoon as compared to
other seasons.

II.

Statement:-

“Private property, trespassers
will be prosecuted” — A notice
on a plot of land.

Assumptions:-

I. The passerby may read the
notice and may not trespass.

II. The people are scared of
prosecution.

Statement:-

Today I must satisfy myself

only by looking at a pink

headed duck in an encyclo-

paedia.

Assumptions:-

I. Pink headed ducks are as
good as extinct now.

II. People refer to encyclo-
paedia to know only about
things which do not exist
now.

Statement:-

A warning in a train compart-
ment — “To stop train, pull
chain. Penalty for improper
use Rs. 500.”

Assumptions:-

I. Some people misuse the
alarm chain.

24.

25.

26.

27.

28.

II. On certain occasions,
people may want to stop a
running train.

Statement:-

“Use our product to improve
memory of our child. Itis based
on natural herbs and has no
harmful side effects.” An
advertisement of a pharma-
ceutical company.

Assumptions:-

I. People generally opt for a
medical product which is
useful and has no harmful
side effects.

Improving memory of child is
considered as important as
important by many parents.

II.

Statement:-
The organization should
promote employees on the
basis of merit alone and not on
the basis of length of services
or seniority.

Assumptions:-

I. Length of service or
seniority does not alone
reflect merit of an employee.

II. It is possible to determine
and measure merit of an
employee.

Statement:-

The government has decided to
disinvest large chunk of its
equity in select public sector
undertakings for a better fiscal
management.

Assumptions:-
I. The amount generated out
of the disinvestment

process may reduce sub
stantially the mounting
fiscal deficits.

II. There will be enough
demand in the market for
the shares of these under-
takings.

Statement:-
If he is intelligent, he will pass
the examination.

Assumptions:-
I. To pass, he must be intelli-
gent.

II. He will pass the exam-
ination.

Statement:-

Imprisonment for 27 years
made Nelson Mandela, the
President.

Assumptions -



29.

30.

31.

32.

33.

I. Only who will be imprisoned
for 27 years will become the
President.

II. To become the President,
imprisonment is a qualifi-
cation.

Statement:-

Children are influenced more

by their teachers nowadays.

Assumptions:

I. The children consider
teachers as their models.
II. A large amount of children's
time is spent in school.

Statement:-

If it is easy to become an

engineer, I don't want to be an
engineer.

Assumptions:-
I. An individual aspires to be
professional.

II. One desires to achieve to
thing which is hard earned.

Statement:-

The coffee powder of company
X is quite better in taste than
the much advertised coffee of
company Y.

Assumptions:-

I. If your product is not good,
your spend more on
advertisement.

II. Some people are tempted to
buy a product by the
advertisement.

Statement:- A part from the
entertainment value of
television, its educational
value cannot be ignored.

Assumptions:-

I. People take television to be
a means of entertainment
only.

II. The educational value of
television is not realised
properly.

Statement:-

The campaign of ‘Keep your

city clean’ started by the Civil

Council did not evoke any

response from the citizens.

Assumptions:-

I. People do not desire to keep
their city clean.

II. The Civil Council has failed
in its campaign.

34.

35.

36.

37.

38.

39.

Statement:-

The present examination
system needs overhauling
thoroughly.

Assumptions:-

I. The present examination
system is obsolete.
II. Overhauling results in

improvement.
Statement:-
Kartik left for Delhi on Tuesday
by train to attend a function to

be held on Friday at his
uncle's house in Delhi.

Assumptions:-

I. Kartik may reach Delhi on
Wednesday.

II. Kartik may reach Delhi
before Friday.

Statement:-

The civic authority has advised
the residents in the area to use
mosquito repellents or sleep
inside nets as large number of
people are suffering from
malaria.

Assumptions:-

I. Local residents have
enough money to arrange
for the repellents or nets.

II. People may ignore and
continue to get mosquito
bites as they have other
pressing needs.

Statement:-

The patient's condition would
improve after operation.
Assumptions:-

I. The patient can be operated
upon in his condition.

II. The patient cannot be
operated wupon in his
condition.

Statement:-

A' advice to B - “Go to Jammu

via Amritsar — the shortest

route”.

Assumptions:-

I. B wishes to go to Jammu.

II. A gives advice to every-
body.

Statement:-

Many historians have done

more harm than good by

distorting truth.

Assumptions -

40.

41.

42.

43.

44,

I. People believe what is
reported by the historians.
II. Historians are seldom
expected to depict the truth.

Statement:-

Why don't you invite Anthony
for the Christmas party this
year ?

Assumptions:-

I. Anthony is not from the
same city.

II. Unless invited Anthony will
not attend the party.

Statement:-

“You should not grant him
leave in this week due to
exigency of work.” - A
supervisor advises the
administrative officer.

Assumptions:-

I. Request for leave can be
turned down also.

II. The supervisor has
reviewed the work required
to be done during the said
period.

Statement:-

“The bridge was built at the
cost of Rs. 128 crores and even
civil bus service is not
utilizing it, what a pity to see
it grossly underutilized.”- A
citizen's view on a new flyover
linking east and west sides of
a suburb.

Assumptions:-

I. The building of such bridges
does not serve any public
objective.

II. There has to be some
accountability and utility of
money spent on public
projects.

Statement:-
It will be a substantial
achievement in the field of

education if one provides one
school for every village in our

country and enforce
attendance.
Assumptions:-

I. Children in villages do not
attend school regularly.

II. Providing school to every
village is desirable.

Statement:-

‘Guests should be provided
lunch.-A tells B.



45.

46.

47.

48.

Assumptions:
I. Unless told, lunch may not
be provided.

II. Guests will stay during
lunch time.

Statement:-

The education of a student at
collegiate level, not taking into
account maintenance expenses,
costs four hundred rupees a year.
Collegiate education is thus
drawing heavily upon the
national resources of an
impoverished community. So
college education should be
restricted to a brilliant few.

Assumptions:-

I. Our resources are very
limited.

II. Only a few students should
be admitted to the colleges.

Statement:-

‘Please note that the company
will provide accommodation to
only outside candidate if
selected.’- A condition in an
advertisement.

Assumptions:-

I. The local candidates would
be having some other
arrangement for their stay.

II. The company plans to select
only local candidates.

Statement:-

Because of the large number
of potholes in road X, reaching
airport in time has become
difficult.

Assumptions:-

I. Reaching airport in time
may not be always nece-
ssary.

II. There is no other conven-
ient road to the airport.

Statement:-

The X-Airlines has decided to
increase the passenger fare by
15 percent with immediate
effect.

Assumptions:-

I. The demand for seats of X-
Airlines may remain
unchanged even after the
hike of fare.

II. Other airline companies
may also hike the
passenger fares.

49.

50.

51.

52.

53.

Statement:-

“If I am not well you will have
to go for the meeting.” — A
manager tells his subordinate.
Assumptions:-

I. It is not necessary that only
manager level personnel
attend the meeting.

II. If the manager is well, he
would himself like to go for
the meeting.

Statement:-

“In order to bring punctuality

in our office, we must provide
conveyance allowance to our

employees.” — Incharge of a
company tells Personnel
Manager.

Assumptions:-

I. Conveyance allowance will
not help in bringing punct-
uality.

II. Discipline and reward
should always go hand in
hand.

Statement:-

You know that your suit is
excellent when people ask
about your tailor who tailored
the suit.

Assumptions:-

I. People do not ask about your
tailor if your suit is not good.

II. The people want to know the
criterion of an excellent
suit.

Statement:-
All existing inequalities can be
reduced, if not utterly eradi-
cated, by action of governments
or by revolutionary change of
government.

Assumptions:-

L Inequality is a man-made
phenomenon.

II. No person would volun-
tarily part with what he
possesses.

Statement:-

The Parent Teacher Asso-
ciation (PTA) of a school has
informed the Principal that
they will not send their
children to the school unless
the school authority reduces
the fees with immediate effect.

Assumptions:-

I. Majority of the parents may
agree with the PTA and may
not send their wards with
the school.

54.

55.

56.

57.

58.

II. The school authority may
accede to the demand of the
PTA and reduce the fees.

Statement:-

The State Government has
abolished the scheme of
providing concessional, air
ticket to students.

Assumptions:-

I. Students will not travel by
air in future.

II. The students who resort to
travel by air can bear the
expenses of air ticket.

Statement:-

“Ensure a good night's sleep for
your family with safe and
effective X mosquito coil.” — An
advertisement.

Assumptions:-

I. X mosquito coil is better
than any other mosquito coil.

II. A good night's sleep is
desirable.

Statement:-

The government has set up
a fact finding mission to look
into the possible reasons for
the recent violence in the
area.

Assumptions:-

I. The mission may be able to
come up with credible
information about the
incidents.

II. The people in the area may
cooperate with the mission
and come forward to give
detailed information related
to the incidents.

Statement:-

The city bus transport
corporation has decided to
change routes to three buses
plying between points A and B
in the city to make them
economically viable.

Assumptions:-

I. These buses may get more
passengers on the revised
routes.

II. Many people residing on the
old routes may not avail bus
services.

Statement:-

Cases of food poisoning due to
consumption of liquor are
increasing in rural areas.

Assumptions:-

I. Percentage of people consu-
ming liquor is more in rural
areas.

II. There are many unauth-

orized spurious liquor shops
in the rural areas.



59. Statement:-

60.

61.

62.

1o O CORID

Be humble even after being
victorious.

Assumptions:-

I. Many people are humble
after being victorious.

II. Generally people are not
humble.

Statement:-I cannot contact

you on phone from crossing.

Assumptions:-

I. Telephone facility is not
available at crossing.

II. Nowadays it is difficult to
contact on phone.

Statement:-

Among all the articles, the

prices of personal computers

show the highest decline from

June 2005 to December 2005.

Assumptions:-

I. Comparative prices of all the

articles in June and
December 2005 were
available.

II. Prices of personal computers
were higher in the first six
months than the last six
months of 2005.

Statement:-

Try to steal this camera from
our store — a display on a
departmental stores.
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Assumptions:-

I. People want to own a
camera.

II. The store has a video
monitoring system to detect
stealing.

Statement:-

Please consult us before

making any decision on
investment.

Assumptions:-

I. You may take a wrong
decision if you don't consult
us.

II. It is important to take a
right decision.
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1.(b)

2.(b)

3.(c)

4.(a)

5.(a)

6.(e)

7.(b)

8.(d)

SOLUTIONS

The word 'If shown that 'you'
do not necessarily have
problems. So, I is not implicit.
Also, the statement states
that problems will be solved
by 'me'. So II is implicit.
Nothing is mentioned about
lather formation by the
detergent. So, I is not
implicit. Also, detergents
should be used as they clean
clothes better and more
easily. So, II is implicit.
The words 'Like a mad man'
show that either a person is
really mad or he is not mad
but acted like mad. So, either
I or II is implicit.

Clearly, the amount of
compensation must have
been decided keeping in
mind the monetary position
of the Government. So, I is
implicit, However, nothing
can be said about the
frequency of railway
accidents in future. So, II is
not implicit.

It follows from the statement
that books on this topic were
available before also but they
were not 'lucid'. So. I is
implicit. But a general
comment as II cannot be made
from the given statement. So,
II is not implicit.

The customer's eagerness to
get the bills makes [ implicit.
Besides, the customer has
written to the editor to bring
the malfunctioning of the
department to public notice.
So, II is also implicit.

Such a warning is usually
given to the workers to
threaten them that they would
lose their job and income
forever if they didn't mend
their ways. So, only II is
implicit.

The statement tackles of
'most people' and not 'all'. So,
I is not necessarily true.
Thus, from the statement.
So, II is also not implicit.

9.(e)

10.(a)

11.(a)

12.(c)

13.(b)

14.(b)

15.(e)

Generally, only that good
feature of a product is
highlighted which people
crave for. So, I is implicit.
Since complexion glows if
circulation is improved, so II
is also implicit.

Clearly, computer education
can be started at the school
level only if it is easy. so, I is
implicit. In the statement,
nothing is mentioned about
the link between jobs and
computer education. So, II is
not implicit.

Since the statement talks of
putting the child in school at
the age of 5, it means that
the child is mentally
prepared for the same at this
age. So, I is implicit. But,
possible to nothing about
admission after 6 years of
age mention in the state-
ment so II is not implicit.
The use of the world 'gamble’
indicates that he may, either
gain or lose in the deal.

The word 'If in the statement
shows that B may or may not

want to publicise his
products. So I is not implicit.
It is advised that

advertisements be given in
newspaper X. This means
that X will help advertise
better i.e., it has wider
circulation. So, II is implicit.

The statement mentions
that only those students are
to be helped who are filling
up the form for the first time.
This does not mean that the
form is complicated. So, I is
not implicit. However, II
follows form the statement
and so is implicit.

Clearly, teachers have been
instructed to maintain
discipline in the class and
point out the naughty
students who do not let other
students study. So, I is

16.(b)

17.(b)

18.(a)

19.(b)

20.(a)

21.(e)

implicit. Besides, the
implementation of the
instructions would surely
help good student to
concentrate on their studies
and ensure a good working
atmosphere in the class. So,
II is also implicit.

The statement clearly warns
the visitors to beware of dogs
as they are trained to
welcome the guests and
intruders differently. So, II is
implicit. I is vague and
hence, it is not implicit.
That someone has earned a
lot is no reason to share the
profit margin with the
customers. So, I is not
implicit. Clearly, the offers
have been announced to
attract more customers and
boost up the sale. So, II is
implicit.

Providing mid-day meals
would attract more number
of children as an added
privilege and not because the
children are deprived of good
meals at home. So, only I is
implicit.

The statement requests
people not to use lift while
moving down. This implies
that the lift may be used to
move up and the request has
been made so that more
people can use the lift for
ascending which would
otherwise cause more
physical stress than going
down the stairs. So, only II is
implicit.

Clearly, the problem of traffic
jams arises during
monsoons not because of
increased number of
vehicles but due to slow
movement of traffic on
account of bad roads. So, only
I is implicit.

Any notice is displayed
assuming that people will
read the notice and also



22.(a)

23.(e)

24.(e)

25.(e)

26.(a)

27.(a)

28.(d)

follow the content of the
notice. So I is implicit.
Besides, the notice
threatens any trespassers to
be prosecuted. So, II is also
implicit.

Since the narrator talks of
satisfying himself by just
looking at a picture in
encyclopaedia, it means that
think headed ducks are not
to be seen alive. So, I is
implicit. But II does not follow
from the statement and is not
implicit.

Clearly, the penalty is imposed
to prevent people from
misusing the alarm chain.
This means that some people
misuse it, So, I is implicit. The
alarm chain is provided to stop
the running train in times of
urgency. So, II is also implicit.
An advertisement highli-
ghts only those features of a
product, which are liked by
people and are also desirable.
So, both I and II are implicit.

The statement stresses on
the need to award promotion
to a person who has been
displaying remarkable talent
and performing extraordi-
narily for the organisation
rather than the one who has
been working steadily for the
organisation since long.
Thus, length of service does
not alone prove a man
worthy. His talent and his
performance are the criteria
to be considered. So, both I
and II are implicit.

The fact given in I directly
follows from the phrase '....for
a better fiscal management'
in the statement. So, I is
implicit. However, the public
response to the new policy
cannot be ascertained. So, II
is not implicit.

The statement mentions
that he will pass if he is
intelligent. So, I is implicit.
Further, this means that it
is not necessary that he will
pass. So, II is not implicit.
The statement implies that
it was not 'literally’ imprison-
ment, but Nelson Mandela's

29.(a)

30.(b)

31.(b)

32.(e)

33.(e)

34.(e)

35.(b)

dedicated service to the
nation and his struggle for
freedom despite various
hardships that won him the
desired public appeal to be
elected the President. so,
neither I nor II is implicit.

Clearly, it is because children
consider teachers as their model
that they are more influenced by
them. So, I is implicit. It is not
necessary that the children are
influenced by teachers because
they spend much time in school.
So, II is not implicit.

Clearly, nothing is mentio-
ned about the professional
nature of the job. So, I is not
implicit. The statement hints
that one rejects a thing that
is easy to achieve. So II is
implicit.

Since the statement hold the
product of company X more
superior in quality than that
of Y which spends more on
advertisement, So I is not
implicit. According to the
statement, the product of
company Y is more known
because of more advertis-
ment. So, II is implicit.

The statement makes the
first assumption clear
though educational value is
not to be ignored. So I is
implicit. That the educatio-
nal value must not be ignored
also shows that educational
value is not realised properly.
So, II is also implicit.
According to the statement,
the campaign did not get any
response from citizens. This
means that people are not
interested in keeping the city
clean and the campaign has
failed. So both I and II are
implicit.

The 'thorough' overhauling is
needed only in case of an
obsolete system. So, I is
implicit. Overhauling is done
for improvement. So II is also
implicit.

Clearly, It cannot be deduced
as to which day Kartik would
reach Delhi. But Kartik has
left for Delhi to attend a
function to be held on Friday.
So, he must have planned his

journey to reach Delhi before
Friday. Thus, only II is implicit.

36.(a) The civic authority has

37.(a) The

advised residents to keep
away from mosquitoes to
avert the risk of malaria.
Such an advice would surely
be adhered to by the people.
So, II is not implicit. Besides,
it has been advised to use
mosquito repellents or nets.
This means that people can
afford to buy the same. So I
is implicit.

fact that patient's
condition would improve after
the operation clearly implies
that the patient can be
operated upon in this
condition. So, I is implicit.

38.(a) A has advised B the route to

Jammu. This means that B
wishes to go to Jammu. So, I
is implicit. The statement
mentions only A's advice to
B. So, II is not implicit.

39.(a) The fact that historians have

40.(b)

done harm by distorting
truth, means that people
believe what is reported by
the historians. So, I is
implicit. II does not follow
from the statement and so is
not implicit.

Anthony's place of living is

not mentioned in the
statement. So, I is not
implicit. Assumption II

follows from the statement
and so it is implicit.

41.(e) The advice is given to turn

42.(b)

down the request for leave.
So, I is implicit. The mention
of the 'exigency of work'
makes II implicit.

Clearly, the statement
expresses grave concern over
a newly-built flyover not being
utilized by public. This implies
that such projects need to be
taken up only after working
out their utility and that the
huge expenditure incurred on
building such structures is
worthwhile only if they prove
useful for the public. Thus,
only II is implicit.

43.(e) The statement lays stress on

enforcing attendance. This
implies that children in
villages do not attend school



44 .(e)

45.(e)

46.(a)

47.(b)

48.(a)

49.(e)

50.(b)

regularly, So, I is implicit.
Besides, the statement calls
' one school for every village'
a 'substan- tial achievement'
So II is also implicit.

Since both I and II follow from
the statement, So both are
Implicit.

The wuse of the words
'impoverished community' in
the statement makes I
implicit while the phrase
'college education should be
restricted to a brilliant few'
makes II implicit.

The statement mentions that
the company intends to provide
accommodation only to outside
candidates. This means that
local candidates would have to
arrange accommodation on
their own and that the
company may select local as
well as outside candidates.
Thus, only I is implicit.

The statement presents the
issue of not reaching airport
in time' as a problem. This
means that reaching airport
in time is necessary. So, [ is
not implicit. Besides, it is
mentioned that reaching
airport in time has become
difficult due to large number
of potholes in raod X. This
implies that road X is the only
possible ways. So, II is implicit.
Clearly, such decisions are
taken only after making sure
that it will not affect the
company's business adversely.
So, I is implicit. However, the
implicit of this increase on
other airlines cannot be
ascertained. So, II is not
implicit.

Clearly, the subordinate can
attend the meeting as told by
the Manager only when
there is no inhibition. So, I
is implicit. The subordinate
is told to go only in case when
the Manager is not well. This
also show the urgency to
attend the meeting So, II is
also implicit.

Assumption I goes against the
statement. So, it is not
implicit. The allowance will
serve as a reward to the
employees and shall provoke

51.(a)

52.(a)

53.(e)

54.(b)

55.(b)

56.(e)

57.(a)

them to come on time. So, II
is implicit.

The statements mentions
that if the people ask about
the tailor, your suit is good.
This means that people ask
only in the situation when
the thing is good. So, I is
implicit. The criteria of an

excellent suit is not
mentioned. So, II is not
implicit.

Since inequality can be

reduced, it means that it is
not natural but created. So, I
is implicit. Nothing is
mentioned about people's
response. So, II is not implicit.

The PTA is an association
which would surely reflect
the parent's interests and
act to get them fulfilled. So,
both I and II are implicit.

The scheme has Dbeen
abolished not to discourage
the student's from travelling
by air but keeping in mind
that the abolition of scheme
won't stop them from
travelling by air. So, only II is
implicit.

The statement mentions the
good qualities of X coil but
this does not mean it is the
best. So, I is not implicit.
Besides, an advertisement
highlights the feature which
is desirable by customers and
can ensure them. So, II is
implicit.

Clearly, the plan of the
government is to work out
the causes for spread of
violence and then take
adequate steps to uproot
them. So, I is implicit.
Besides, this step of the
government is for the welfare
of the general public only. So,
II is also implicit.

The statement mentions that
the routes have been so
changed as to make them
economically viable. This
means that new stoppages
have been so selected as to
cater to a larger number of
people then before. So, I is
implicit. Further, the people
already travelling by these
buses would not be devoid of

58.(b)

59.(b)

60.(a)

61.(e)

62.(b)

63.(e)

the same and they would also
get the facility in their
vicinity, be it the same bus
or another one. So, II is not

implicit.

The statement talks of
number of cases of food
poisoning due to

consumption of liquor and
not of the number of cases
consuming liquor. So I is not
implicit. Besides, the
statement indicates that
people in rural areas are
getting spurious or low-grade
liquor and no check is being
kept on shops selling liquor
there. So, II is implicit.

Clearly, nothing is mentio-
ned about the nature of the
people. So, I is not implicit.
Also, the statement gives an
advice of being humble even
after being victorious. This
means that generally people
are not humble. So, II is

implicit.
The statement indicates the
impossibility of phone

contact from Karshik. Thus,
the fact in I may be assumed
from the given statement.
So, I is implicit. However, II
indicates difficulty, not the
impossibility of contact as is
indicated in the statement.
So, II is not implicit.

Since prices of personal
computers show the highest
decline among all the
articles, it implies that the
comparative prices of all the
articles was known. So, I is
implicit. Also, it being given
that prices of computers
showed decline during the
last six months, it means
that they were higher in the
first six months. So, II is
implicit.

Clearly, the owners of the
store warn that one dare not
try to steal the camera. So,
II is implicit while I isn't
Clearly, the statement was
spoken for fear that the other
person many take a wrong
decision. So I is implicit.
Again, the statement
confirms that is it important
to take the right decision. So
Il is also implicit.





